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Find the domain of the given function,

1) {(x) e ‘i;”'! 2) (x) iz 3) f(x) =Af9 - x
DX =-2) X
All Recls » ~3 )
exdol o <9
eNcept 12 { o ]2

Find the range of the function.
4) f(x) = (x - 2)2 +2 5) f(x) = (x +5)% +8

[2:%) (59

7) Use the graph of f to estimate the local maximum and local minimum. Determine where
the function is increasing and decresing.

y mins (-0) | (3,1)
4 (1-6) mav : Cs‘,q)
13 G Decrsse’ (00,4 (1,3) (5:°9)

CL1 [ncreqsy (") l) (3 ) Y)

Find the zeros of the polynomial function and state the multiplicity of each.

8) f(x) = (x +2)2(x - 1) 9) f(x) = 3(x + 8)2(x - 8)3
X =2 mult X 2>-8muit
X X = gmelt3
Find the zeros of the function. (show work)
13) f(x) = x3 - 49x 14) f(x) = 3x3 - 12x2 - 15x 15) f(x) =
X (¥?-4<) (" -4y -5)
¥ (‘“"7)(*"7) 3w (¥-9) (m‘-r)
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Unit 1A Test Review

Graph the piecewise~defined function.

2x-2,ifx<0
f(x) =
=2x+1,ifx=0

Ix +8, if x< 0
y(x) -
x2-2, ix=0

X1 if x<-2
f(x)=1{2x-1 if -2<x<4
-3x+8 if x>4
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Unit 1A Test Review
Given f(z) = 222 — z, find the following and simplify. f(z + k) — f(z)
1 2 ) h
2 (x+h) = (5+4) = (2% "<+
2 (x t2xh +4 V)ax=h =2 ¥

20T Gy +2h P> =h 2

Qe b (Rl 24 r4x~1)

B P

h)—-C
Given C(z) = 2g% — 4z + 3, find and simplify Clz + })1 . (z)

2 (kth) " 4 (x+h) +3 - (ART-4%13)
2 (xT#2xh +hY) ~qx-9h 13 ~Ax " +¥% -3

AP FA A ALRT b BT SRS By

x =

R Y R LI 5 Gk, sl %-¥)
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Write the equation of a quadratic function that has the following transformations:

expand horizontally by a factor of 2 z
translate right 1 unit ((ﬁ):.(-zlx—-l) +3
translate up 3 units

Write the equation of an absolute value function that has the following

transformations: \
compress vertically by a factor of 3 ( :_,—'_ - / -
reflect across the x-axis é‘) 3 ¥ ‘3‘ 3
translate right 2 units
translate down 3 units

Describe the transformations present to the following parent functions

h(x)= -(x-3) +1 g(x) = -2(x+1)2+3
Re Clgt ove¥ ﬁe{ar}mx
right 3 Wit |, vP3
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Unit 1A Test Review

Sketch the graph of the polynomial: g(x) = x* — 4x? ‘

State End Behavior Y152 i/ 4fF

Max # of Turns 3

Factor the Polynomial to find the zeros
¥ () (%-2) xzomz2  Tmy

'h'_m,

L]

Graph the polynomial

Sketch the graph of the polynomial: f(x) = —x* + 9x* — 20

. State End Behavior fall [ &t+rigat

+ Max # of Tumns 3 / '

o S S
Factor the Polynomial to find the zeros
a(x +ax “$20) . T (A%8) (h44) 2 #(x28) (++2)( 2)
« Graph the polynomial 1
x2XF -2, 2allm,

-20

Sketch the graph of the polynomial: f(x) = 3x® + x* — 27x ~ 9

. State End Behavior o 0um (g ve gt

« Max # of Turns 2 /-\

» Factor the Polynomial to find the zeros
6("*3)(* 3) (3"‘” =? 4:-—3, 30.”;1”
« Graph the polynomial \/




Unit 1A Test Review

Concepts/Short Answer
1. Explain the difference between a rational number and an irrational
number. Provide an example of each
Ratmal numbers are ﬂ""""’*’"&

A ratonal nomhex can be made ate o raho.
or “reﬂeaﬁ"d_"a&crmq!;. Exemples ‘{,3' ' .S'.' -/1
[rrahane] Nombens can not be madesnts a rato becacse Hlay ana nom- repesiry.
nom krmmahv cloccals, Examy@s : ™,e,JT, V3

2.  Why is it that a quadratic function can have no real zeros but a
cubic function must have at least one real zero? Use a sketch of
each function to support your position.

because He ramge of guadlrahcs ane pot B, ancl it 15 Possib& Fo grepl,
o quaddvabe Hhad cloessit pass Hire He xaxs, such g or
“h

CU‘*’CS (Ofany ao’&a&'{m pofdaomu() hava & famé(’ag 2 ?‘{kﬂf,.g__
Har Sraghs mosT pass #hro He xaxgs such Qg Z_IZ

3. Explain what it means for a value to be excluded from the domain
of a function. Provide examples of a function that has excluded
values. of*

Evcludsd Valves ort u&/w_sr\‘{“q'lL woulcd meselt 1n @ g valve Yoot 15
Un dﬁrﬁd E)Cowy‘o(e_g X —:?{ He EV ts X T4 o VT/%EVSM}(?O

4. Inthe quadratic formula, what is the discriminant and how does it
help us determine the number of real zeros a quadratic function
has?

“}'k Aiscviminant s e Forhoﬂob,%l Corme/a Mﬁ_f( )
un dex Hha s¢ roaf (b"—ﬁmc.) af He discriminanit ts > O Y,

Hew one A sl solohony 1€ the discoiminamt €O, Hew ara no

(rerey )
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